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1 Introduction
Way forward of [1] we submitted in RAN4 #74meeting has proposed the detailed methodology. It is noted for companies want to discuss further. After offline discussion by email and following the metrics in Way forward [2] approved in RAN4 #74 meeting, we draft this contribution contained detailed methodology for LAA and Wi-Fi coexistence.
2 Methodology of LAA and Wi-Fi coexistence
1) Carrier selection
· Static selection: Cell A of one operator selects one 20MHz carrier in some 5GHz band and cell B of another operator selects adjacent 20MHz carrier of cell A.

2) Active proportion
Nodes of AP or BS in the scenario shall be active in some proportion. 2 or 6 of 8 nodes in a cell are active could be an example.
3) Interference calculation

Case 1: baseline Wi-Fi to Wi-Fi
Step 1: Aggressor of Wi-Fi (for example cell A in figure 1) decides UL or DL transmission by 50% probability. Then schedule only one station randomly in this Wi-Fi cell as a DL receiver or UL transmitter.

Step 2: Victim of Wi-Fi (for example cell B in figure 1) decide UL or DL transmission by 50% probability. Then schedule only one station randomly in this Wi-Fi cell as a DL receiver or UL transmitter. 

Step 3: Do step 1 and step 2 for all small cells, and calculate the adjacent interference (ACI) and SINR in each victim cell. Then map SINR to throughput by look up table.
Step 4: Do step 1 to 3 for multiple snapshots and calculate the average throughput loss referring to 36.942 method. The result will be the baseline of Wi-Fi throughput loss performance.
Case 2: Wi-Fi to LAA

Step 1: Aggressor of Wi-Fi decides UL or DL transmission for 50% probability. Then schedule only one station randomly in this Wi-Fi cell as a DL receiver or UL transmitter.

Step 2: Schedule one UE randomly in DL of victim of LAA cell.
Step 3: Do step 1 and 2 for all small cells, and calculate ACI and SINR in each victim cell. Then map SINR to throughput by look up table in 36.942.
Step4: Do step 1 to 3 for multiple snapshots and calculate the average throughput loss referring to 36.942 method. 
Case 3: LAA to Wi-Fi

Step 1: Schedule one UE randomly in DL of aggressor of LAA cell..

Step 2: Victim of Wi-Fi decides UL or DL transmission for 50% probability. Then schedule only one station randomly in this Wi-Fi cell as a DL receiver or UL transmitter.

Step 3: Do step 1 and 2 for all small cells, and calculate the ACI and SINR in each victim cell. Then map SINR to throughput by look up table.
Step4: Do step 1 to 3 for multiple snapshots and calculate the average throughput loss referring to 36.942 method. Then compare this result to baseline obtained in case1 to verify LAA can be a good neighbor of Wi-Fi.

3 Conclusion
This contribution shows the detailed methodology for LAA and Wi-Fi coexistence.
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